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Exercice 1:   Système Bielle Manivelle 

Question 1:  Déterminer 𝐕𝟑𝟎
⃗⃗ ⃗⃗ ⃗⃗   et 𝑽⃗⃗ (𝑴, 𝟐/𝟎) et leurs normes 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑉30 =
3,34

3
∗ 1 = 1,11 𝑚. 𝑠−1 

‖𝑉⃗ (𝑀, 2/0)‖ =
1,8

3
∗ 1 = 0,6 𝑚. 𝑠−1 

Données 

𝛺10 = −1 𝑟𝑑. 𝑠−1 

𝐿1 = 1 𝑚 

𝑉 = ‖𝑉⃗ (𝐵, 1/0)‖ = |𝐿1𝛺10| = 1 m. s−1 

𝑴 

𝑽⃗⃗ (𝑩, 𝟏/𝟎) = 𝑽⃗⃗ (𝑩, 𝟐/𝟎) 

∆𝑩
𝟏𝟎= ∆𝑩

𝟐𝟎 
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∆𝑪
𝟑𝟎= ∆𝑪

𝟐𝟎 

 

𝑰𝟐𝟎 

𝑷𝑩𝑪
𝑩,𝟐𝟎 

 

𝑷𝑩𝑪
𝑪,𝟐𝟎 

 
𝑽⃗⃗ (𝑪, 𝟐/𝟎) = 𝑽⃗⃗ (𝑪, 𝟑/𝟎) 

∆𝑴
𝟐𝟎 

 

𝑷𝑩𝑴
𝑩,𝟐𝟎 

 

𝑷𝑩𝑴
𝑴,𝟐𝟎 

 

𝑽⃗⃗ (𝑴, 𝟐/𝟎) 


